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M1l Pa)=203—522— Mz +8LB< &, P(4)=128—80—564+8=0&75 2 Lind, P(z)
T x — 4 Z2FEITH D,
Plx) %o —4TEID L, Pr)=(z—4)(222 + 3z —2)
EDI2AEDLT, (2 —4)(z+2)(2x—1)

M2 rPo)=@@-1D)E-2)Q@k) +ar+b LBF5,
XY, P)=-1ThHr05, a+b=-1+O
P2)= -4 ThHHMN5, 2a+b=—4+-©@
OOXY, a=-3, b=2
LoT, RODBHRDIT -3z +2

W30 Ztnb,
P(z)=(2* - 32+ 2)Q(z) + 3z —5
P(z) = (2> + 2 - 2)R(z) — 51 + 3
LREDIMNG, TbD,
P(z) = (v —1)(z —2)Q(z) + 3z — 5 +=+ O
Pz)=(z—-1(z+2)R(x) -5z +3 O
L2 %,
£oT, Pla)Zoz—-2TH-72m0IE, OXY P2)=6-5=1
Px)Zx+2 THSZRVIZOLY P(-2)=10+3=13

(2) Pl)Zzaos—2—4TEHSTRVITIRALERDLDT, ZOZLNG
P(z)=(x—2)(z+2)S(x)+ax+b
LB ZENTED,
e (1) &Y, P2)=2a+b=1, P(-2)=—-2a+b=13
ThoHNb, Iz CTa=-3, b="7
PRI, RODRVIT 3247
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